
�⃗� · �⃗⃗� = 0

�⃗� · �⃗⃗� = (
4
2

) · (
−3
6

) = 4 · (−3) + 2 · 6 = −12 + 12 = 0

�⃗⃗� ∥ 𝑐 = 0 0

�⃗⃗� ∥ 𝑐 = det (
−3 2
6 −4

) = (−3 · (−4) − 6 · 2) = 12 − 12 = 0

𝑓′(𝑥)

𝑓′(𝑥) = −2𝑥 + 10

𝑓′(2) = −2 · 2 + 10 = 6

𝑦 = 6 · (𝑥 − 2) + 16 = 6𝑥 − 12 + 16 = 6𝑥 + 4

∫(3𝑥2 + 2 − 1/𝑥) 𝑑𝑥 = 𝑥3 + 2𝑥 − ln(𝑥) + 𝑘

𝑥 > 0

𝑎

20 =
1

2
· 𝑎 · 8 ·

1

2
⇔ 80 = 8𝑎 ⇔ 𝑎 = 10

𝑎 =
𝑦2 − 𝑦1

𝑥2 − 𝑥1
=

300 − 100

100 − 200
= −2 

𝑏 = 𝑦1 − 𝑎𝑥1 = 100 − (−2) · 200 = 500

𝑓(𝑥) = −2𝑥 + 500



 

𝑣 = arccos (
4 · (−2) + 1 · 2

√12 + 42 · √(−2)2 + 22
) = 120.964𝑜

 

�⃗� ∥ �⃗⃗� = det (
4 −2
1 2

) = 4 · 2 − 1 · (−2) = 10

 

 

𝑥 = 25 · 0.12 + 75 · 0.16 + 125 · 0.28 + 175 · 0.26 + 225 · 0.14 + 275

· 0.04 = 138

𝑉𝑎𝑟(𝑥) 
= 0.12 · (25 − 138)2 + 0.16 · (75 − 138)2 + 0.28 · (125 − 138)2 + 0.26

· (175 − 138)2 + 0.14 · (225 − 138)2 + 0.04

· (275 − 138)2 
= 4381

𝜎(𝑥) = √𝑉𝑎𝑟(𝑥) = √4381 = 66.189
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𝑝(𝑥) = −0.4𝑥 + 20, 0 < 𝑥 < 50 
𝑞(𝑦) = −0.1𝑦 + 10, 0 < 𝑦 < 100

 

𝑂(𝑥, 𝑦) = 𝑥 · 𝑝(𝑥) + 𝑦 · 𝑞(𝑦) 
               = 𝑥 · (−0.4𝑥 + 20) + 𝑦 · (−0.1𝑦 + 10) 
               = −0.4𝑥2 + 20𝑥 − 0.1𝑦2 + 10𝑦

 𝑂(𝑥, 𝑦) = 𝑡

−0.4𝑥2 + 20𝑥 − 0.1𝑦2 + 10𝑦 = 250 ⇔ 
−0.4 · (𝑥2 − 50𝑥) − 0.1 · (𝑦2 − 100𝑦) = 250 ⇔ 
−0.4 · ((𝑥 − 25)2 − 252) − 0.1 · ((𝑦 − 50)2 − 502) = 250 ⇔ 
−0.4 · (𝑥 − 25)2 − 0.1 · (𝑦 − 50)2 = 250 − 0.4 · 252 − 0.1 · 502 ⇔ 
−0.4 · (𝑥 − 25)2 − 0.1 · (𝑦 − 50)2 = −250 ⇔ 
−0.4 · (𝑥 − 25)2 − 0.1 · (𝑦 − 50)2

−250
= 1 ⇔ 

(𝑥 − 25)2

625
+

(𝑦 − 50)2

2500
= 1



 

𝑃(0,50), 𝑄(25,0), 𝑅(50,50), 𝑆(25,100), 𝑇(25,50)

𝑇

𝑂(25,50) = 500

250

 𝑥 + 𝑦 ≤ 50 𝑦 ≤ 50 − 𝑥 𝑂(𝑥, 𝑦)

𝑂(𝑥, 50 − 𝑥)

𝐾(𝑥) = 𝑂(𝑥, 50 − 𝑥) = −0.5𝑥2 + 20𝑥 + 250

𝐾′(𝑥) = 0

−𝑥 + 20 ⇔ 𝑥 = 20

𝐾(𝑥) 𝐴

𝐾(20) = −0.5 · 202 + 20 · 20 + 250 = 450

𝑦

𝑦 ≤ 50 − 20 
𝑦 ≤ 30

20 30

𝑦 + 𝑥 ≤ 50



 24000𝑘𝑟

𝐴𝑓𝑑𝑟𝑎𝑔 = 𝑌𝑑𝑒𝑙𝑠𝑒 − 𝑅𝑒𝑛𝑡𝑒

987.76 = 𝑌 − 480 ⇔ 𝑌 = 1467.76

𝑟 2%

𝑅𝑒𝑛𝑡𝑒 = 𝑃𝑟𝑖𝑚𝑜 𝑅𝑒𝑠𝑡𝑔æ𝑙𝑑 · 𝑟

480 = 24000 · 𝑟 ⇔ 𝑟 = 0.02

2%

 8

24000 · (1 + 0.02)8 −
(1 + 0.02)8 − 1

0.02
· 1467.76 = 15522.086

8 15522.086𝑘𝑟

𝑓(𝑥) = 𝑥3 − 6𝑥2 + 9𝑥 + 2

 𝑓′(𝑥) 𝑓′(𝑥) = 0

3𝑥2 − 12𝑥 + 9 = 0 ⇔ 
𝑥2 − 4𝑥 + 3 = 0 ⇔ 
(𝑥 − 1)(𝑥 − 3) = 0

𝑥 = 1 ∨ 𝑥 = 3

𝑓′′(𝑥) = 6𝑥 − 12

𝑓′′(1) = 6 · 1 − 12 = −6, 𝑙𝑜𝑘𝑎𝑙𝑡 𝑚𝑎𝑘𝑠 
𝑓′′(3) = 6 · 3 − 12 = 6, 𝑙𝑜𝑘𝑎𝑙𝑡 𝑚𝑖𝑛

 (−∞; 1] [3; ∞)

 [1; 3]

 𝑓′′(𝑥) = 0

6𝑥 − 12 = 0 ⇔ 𝑥 = 2

(−∞; 2) (2; ∞)



 

𝐴 = ∫ 𝑓(𝑥)
1

0

𝑑𝑥 = ∫ (𝑥3 − 6𝑥2 + 9𝑥 + 2)
1

0

𝑑𝑥 = [
𝑥4

4
− 2𝑥3 +

9𝑥2

2
+ 2𝑥]

0

1

 

    =
14

4
− 2 · 13 +

9 · 12

2
+ 2 · 1 − (

04

4
− 2 · 03 +

9 · 02

2
+ 2 · 0) 

    =
14

4
− 2 · 13 +

9 · 12

2
+ 2 · 1 

    =
19

4

e𝑥2−4𝑥 − 1 = 0

e𝑥2−4𝑥 = 1 1

𝑥2 − 4𝑥 = 0

𝑥 · (𝑥 − 4) = 0 𝑥

𝑥 = 0 ∨ 𝑥 = 4

𝑓(𝑥) = 3𝑥2 − 5𝑥 + 4 𝑙

𝑦 = 𝑥 + 1

 𝑙 𝑓(𝑥) 𝑓(𝑥) = 𝑦

3𝑥2 − 5𝑥 + 4 = 𝑥 + 1 ⇔ 
3𝑥2 − 6𝑥 + 3 = 0 ⇔ 
𝑥2 − 2𝑥 + 1 = 0 ⇔ 
(𝑥 − 1)2 = 0 ⇔ 
𝑥 = 1

𝑦 = 1 + 1 = 2 𝑃(1,2)

𝑙 𝑥 = 1

𝑙

𝑓′(1) = 6 · 1 − 5 = 1



 

𝐴 = ∫ (𝑓(𝑥) − 𝑦)
1

0

𝑑𝑥 = ∫ (3𝑥2 − 5𝑥 + 4 − (𝑥 + 1))
1

0

𝑑𝑥 

    = [𝑥3 − 3𝑥2 + 3𝑥]0
1  

    = 13 − 3 · 12 + 3 · 1 − (03 − 3 · 02 + 3 · 0) 
    = 13 − 3 · 12 + 3 · 1 
    = 1 

 𝑥

𝑦𝑆 = 𝑥 + 500

60%

𝑦𝑠 = 𝑦𝑆 + 0.6 · 𝑦𝑆

25%

𝑦𝑚 = 𝑦𝑠 + 0.25 · 𝑦𝑠

𝑓(𝑥) = 𝑦𝑚 

          = 𝑦𝑠 + 0.25 · 𝑦𝑠 

          = (𝑦𝑆 + 0.6 · 𝑦𝑆) + 0.25 · (𝑦𝑆 + 0.6 · 𝑦𝑆) 

          = (𝑥 + 500 + 0.6 · (𝑥 + 500)) + 0.25 · (𝑥 + 500 + 0.6 · (𝑥 + 500)) 

          = 𝑥 + 500 + 0.6𝑥 + 300 + 0.25𝑥 + 125 + 0.150𝑥 + 75 

          = 2𝑥 + 1000 

 

𝑓(𝑦) = 𝑥

2𝑦 + 1000 = 𝑥 ⇔ 
2𝑦 = 𝑥 − 1000 ⇔ 

𝑦 =
𝑥

2
− 500 ⇔ 

𝑓−1(𝑥) =
𝑥

2
− 500

1600 300



 𝑓(𝑥, 𝑦)

𝑓(𝑥, 𝑦) = 30𝑥 + 20𝑦

𝑁(200)

(0,17.5), (3,16), (12,4), (14,0)

𝑓(0,17.5) = 350 

𝑓(3,16) = 410 

𝑓(12,4) = 440 

𝑓(14,0) = 420

𝑓(12,4)

12 4

 𝑑

𝑓(𝑥, 𝑦) = 30𝑥 + 𝑑𝑦

𝑓(3,16) 𝑓(14,0) 𝑓(12,4)

𝑓(12,4) ≥ 𝑓(3,16) ⇔ 30 · 12 + 𝑑 · 4 ≥ 30 · 3 + 𝑑 · 16 ⇔ 𝑑 ≤ 22.5 
𝑓(12,4) ≥ 𝑓(14,0) ⇔ 30 · 12 + 𝑑 · 4 ≥ 30 · 14 + 𝑑 · 0 ⇔ 𝑑 ≥ 15

15 ≤ 𝑑 ≤ 22.5


